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% | -9 /L3 % [£0:(9/16] 1.50.05 1.32.01 TAC| 6
100mIM 9 /3] Bk 22k [12/16, 1.41.79 1.33.12 TAC | 6
= [ 9 [/N3] st 1 %2 [4/22] 14483 1.31.40 TAB | 7
& |93 5 312.66 TAC | 7
200mIM PN 4/22| 3.17.83 259.22 TAB | 8
EANING ; 4/22] 2.4958 2.41.82 TAC |7
T00mBR | %Z | 9 [/I\3 F 14697 TAD | 6
P I N B 12716 1.07.34 57.42 =
8 |/h2 *;{m EL3 59.38 = =
7 b1 _AHE 57.65 —
P0mBA | g (B2 A %A 2/17] 4307 43.23 TAB | 9
10 /N4 _#A/ 3K 1/13] _43.93 43.50 =
2 /e[ A E— 5257 =
1 9 /3] =) 2/17] 1.31.20 1%1{1) =i
10 [/4 & = 27171 1.2201 23. N 9
100mFR | & {7 T/h6] B4 & 112716 1.29.23 1.19.50 = | 4
5] B’A 12/16 1.28.76 1.21.60 I
7 M1 =112/16] 1.06.86 1.02.59 TAD | 1
% B2 e [12/16_56.36 54.66 TAD | 6
10 /N4 =l12/16_43.68 43.81 TAC | 7
SR 10 [/[\4 =12/17] 4586 4497 TAC | 6
8 |/h2 = 2/3 | 5123 50.04 TAC | 8
g [Q /13 56.16 = -7
9 /3 2/3 | _44.95 44.47 TAB | 8
11 [/h5 49.99 = Il =
6 |/ 12716 1.03.02 55.40 = | =
7 [/ 12/16_53.80 46.38 TAC | 4
8 /2 9/16] 4497 4516 = | 5
8 /2 9/16] 53.77 53.10 .
8 /2 127164543 4282 TAD | 6
9 [/[\3 1/13]_40.97 41.26 — | 4
% [9 [/°3 2/17] 3958 38.05 TAD | 6
9 [/h3 12/16 23 42.60 = 3
9 /"3 2/17]_39.31 414 = |4
9 /3 2/17]_40.02 39.16 TAD | 6
50mFR 10 /14 2/3 |_33.40 33.98 TAB | 8
0 /"4 2/17]_34.33 3452 TAC | 7
10 /14 1/13] _33.63 34.07 TAB | 8
7 /M 52.41 -
8 [/h2 2/17]_38.56 38.63 TAC | 9
8 [/[2 2/17]_37.94 38.27 TAC | 9
g[8 [ha 41.75 = | 4
10 |14 2/17]_37.15 37.38 — [ 5
"5 1 [12/16_36.22 36.19 — | 4
11 15 12/16_41.40 37.95 — [ 2
12 [/1\6 4343 ==
100mBA | B [ 10 |/p4 2/17] 1.37.18 1.35.98 - 3
8 [/h2 4/22| 5516 49.77 ~ | 4
- 9 [7/\3 12/16]_ 4546 46.2? -~ 3
9 [/°3 2/2 |_38.90 39.7 TAC | 7
S0mFLY 10 /14 2/21 3123 3716 TAC T 7
10 |/ph4 38.8 TAD 6
[ E 12 /16 2/17| _32.49 3261 TAC | 7
8 [/h2
7 b1
100mM/R| & H—1755 1.32.15
8 |/h2
90 N3 2/2 |_4364 4333 TAD ] 6
10 [/[\4
200mM/R| 2 0T/[a 2.37.11
10 [/[\4
12 [/1\6 52.02 — ]
1[5
200mM/R| 5 7175 2.58.63
11 /M5




